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Question 1

In the MySQL Table Editor, the abbreviation PK stands for partial key.
True or False?
Answer: https://biology-forums.com/index.php?topic=741024

Question 2

An array's size declarator must be a with a value greater than
A) variable, -1

B) number, one

C) constant integer expression, zero

D) number, zero

E) None of these

Answer: https://biology-forums.com/index.php?topic=741795

Question 3

The process of moving through a linked list is referred to as the list.
A) node-hopping

B) cruising

C) alternating

D) traversing

E) None of these

Answer: https://biology-forums.com/index.php?topic=742210

Question 4

True/False: Push and pop are the two most common queue operations.
A) True

B) False

Answer: https://biology-forums.com/index.php?topic=742290

Question 5

Which of the following is not a standard data type used in SQL?
A) Text

B) Char

C) Varchar

D) Integer

E) Numeric

Answer: https://biology-forums.com/index.php?topic=740447

Question 6

Data structures that can dynamically store elements and can grow and shrink in size are:
A) queues

B) deques

C) stacks

D) All of these

E) None of these

Answer: https://biology-forums.com/index.php?topic=742258

Question 7

True/False: The inorder method of traversing a binary tree involves traversing the node's left subtree, processing the node's data, and then traversing
the node's right subtree.

A) True

B) False

Answer: https://biology-forums.com/index.php?topic=742342

Question 8

To overload the + operator, you would write a function named
A) function +
B) operator.overload(+)
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C) overload +

D) operator +

E) None of these

Answer: https://biology-forums.com/index.php?topic=742104

Question 9

True/False: Before you can perform a selection sort, the data must be stored in ascending order.
A) True

B) False

Answer: https://biology-forums.com/index.php?topic=741856

Question 10

JSON stands for Jason Script Object Notation.
True or False?
Answer: https://biology-forums.com/index.php?topic=741388

Question 11

This member function reads a single character from a file.

A) input

B) read

C) put

D) get

E) None of these

Answer: https://biology-forums.com/index.php?topic=742011

Question 12

The term drill down refers to the capability of seeing the data in smaller and smaller units.
True or False?
Answer: https://biology-forums.com/index.php?topic=740841

Question 13

Reports that rely on the most current data when they are prepared are called reports.
Answer: https://biology-forums.com/index.php?topic=741367

Question 14

Which SQL keyword is used to eliminate duplicate rows in the results of an SQL SELECT query?
A) UNIQUE

B) SORT

C) ORDER BY

D) DISTINCT

E) REDUCE

Answer: https://biology-forums.com/index.php?topic=740453

Question 15

Microsoft Access 2013 uses the Access 2003 .mdb file format as the default file format for database files.
True or False?
Answer: https://biology-forums.com/index.php?topic=740271

Question 16

In market basket analysis, confidence is the probability that one particular product will be purchased.
True or False?
Answer: https://biology-forums.com/index.php?topic=741316

Question 17

A variable's is the part of the program that has access to the variable.
A) data type

B) scope

C) value

D) reach
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E) None of the above
Answer: https://biology-forums.com/index.php?topic=741534

Question 18

If a function does not have a prototype, default arguments may be specified in the function
A) return type

B) header

C) call

D) execution

E) None of these

Answer: https://biology-forums.com/index.php?topic=741750

Question 19

SQL views are constructed from SELECT statements.
True or False?
Answer: https://biology-forums.com/index.php?topic=741077

Question 20

If an exception is thrown by a member function of a class object, then the class is called.
A) constructor

B) destructor

C) handler

D) catcher

E) None of these

Answer: https://biology-forums.com/index.php?topic=742171
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